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PART- A

.a) i:xplairr various logical operators that are Llsed in'Cl'.
b) Differrentiate betu,een breal< ancj continue statetreltt i,v ith an cralnple
c) Explaiu aboLlt auto storage c lass.

d) W'hat are thc applications ol'an array'.)

e) Explairr tlre arrar of poirrters u ith exanrple.

0 What is null pointer'l What is a void pointer'? Explain when rrull
poirrter are Llsecl.

g) Explarn lrow does enum is differ frorn type def irr 'C--'.

h) Explain about the preprocessor commands.
i) E.rplain about f.seeli( ).

-i) Discr-rss about the difll'erent tnodes available fbr opening a flle.

PART.B

2.a) Dran'the flowchafi to flrrd the roots of the given equation axr+ bx+-c ., 0.

b) I-rplain tlre relational operators with an example.
OR

3.a) Erplain the dillererrt t,vpes of data t1,pes used irr-C" langLrage.
b) \\'liat is a progranrr ing Ianguage? Briefl1, explain thc c lassiflcatittn of

larrgr-rages.

-l.a) [irplain
arfa,\ .

b) Write a

5.a) Exp lain
b) Writc a

tirc cirnceltt ol clecllrrirrg. acce'ssin!l and st()l'iltg clcntcnts irr a

pr'()grrur] t(i s()rl thc e lcnrents [r1 Lrsing bLr[rble srirt.
()lt

the dillcrcnt t-r pes ol lirnctions rr itlr un uruntple

l)rOSraln tO pril.]t ttanSl)ort 0f ll Sir un nrrrtIir.
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all elenrents storecl in un

l5+"-r1

clr rtlrnr ie arra\ \ ri ith a

6.a)
tr)

l:rplain anr live string rrruniltulation lirr.rctions u ith eruntltles.
\\'riLc a llro!,ranl Lrsirg l.rt,intcr': to e r)ntpLtle tlte srrnt ttl'
a l-l'lt\ .

olt
La) |:rpllrirt thc c()ncepl ol'passing strings tr) tirnctions tls

l)'() !l rA n ) .

bt \\ritc rt llr'r)Sranr to llnii tlrc lcngth rrl'a gircn:trinil br Lrsing:trini:. tirnctiorr [5+5]
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8.a) Ilow to cleclare a ulrion in'C" explain vvitl-r an exarrplc.
b) Write a 'C' progralr to conrputc the monthlr pa1 of 100 e rnplo-r,ees r-rsing each

emplovee trame and basic par. The DA is contputed as 2.5%, of the basic pa).
Gross salan (Basie pa-r ' DA). Displal,the emplovces natrc ancl gross salary. [5r5]

or{
9 u) [)rl'1 c'r'cittiate ltelticcn struCtLlrc iri)al Uni\)n in '('.

b) \\ r'itc lt llrogr.lrrrr to e alcLtllrte grrrrie. ir\ eregc nrarirs irnrl t()iiri nrarl.s in a
(j(l stLldcnts ltr LrsinL, \tr'IetLll'r, e()|rcpt.

l[) lr) \\'ritc a '(" prograrn lo e ()ulrl thc nLrnrber or'charactcrs in ar lllc.
hl I:rplairr rariotts stanclarcl librarr lirnctions lol lrancllins lllcs.

0R.
I I \\ ritc a '( ' ltrrrgraln [o creatc a lile etintlrins i.r scr-ics ttl- inleger rtunrbers ancl then

rclrtis all ttttltltlcrs ol'' this l'i le anil rr ritc all ocld nLrurbcrs tti olhcr f ilc callccl odci
lunrl rir.irc- allcren rrLultrers to a lllc callecl crcn. ll0l
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